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Yes.  You could solve “F” first.

Replace “C” with 177

Multiply both sides by 
9

5

Solve for “F”.

Simplify.  Add 32 to both sides



Just rearrange this formula so “F” is by itself!
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Simplify.  Add 32 to both sides
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Slope-intercept form: 

y = mx + b

Get “y” by itself!
= 
10

3



𝑚 = −
𝐴

𝐵

Standard form: 

Ax + By = C

Get “x” and “y” 

on the same side!



4. If you want to determine the y-intercept of an equation, which form is more 
efficient? Explain your reasoning. 
Slope-intercept form because the y-intercept (or b) is given.

5. If you want to determine the x-intercept of an equation, which form is more 
efficient? Explain your reasoning.  
Either one.  In both equations, you have to let y = 0 and solve for x.

6. If you wanted to graph an equation, which form is more efficient? Explain your 
reasoning. 
Standard form because it is easy to find the x- and y-intercepts.  If you use a 
graphing calculator like DESMOS, you can use either equation.


